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Prototype HgS

AFLOW prototype label AB hP6 154 a b-001

Strukturbericht designation B9

Mineral name cinnabar

ICSD 70054

Pearson symbol hP6

Space group number 154

Space group symbol P3221

AFLOW prototype command aflow --proto=AB_hP6_154_a_b-001

--params=a, c/a, x1, x2
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Other compounds with this structure
HgO
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3c ẑ (3a) Hg I

B2 = x1 a2 + 1
3 a3 = 1
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3c ẑ (3a) Hg I

B3 = −x1 a1 − x1 a2 = −ax1 x̂ (3a) Hg I

B4 = x2 a1 + 1
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6c ẑ (3b) S I

B5 = x2 a2 + 5
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6c ẑ (3b) S I

B6 = −x2 a1 − x2 a2 + 1
2 a3 = −ax2 x̂ + 1

2c ẑ (3b) S I
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